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MATHS

BOOKS - CHHAYA MATHS (BENGALLI)

ABIPATG] YT

1. ARG SsIsd B3feid ©ade (differential)

IERRKIGIE \/:cz + 2

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BvnWyyROeCAb

2. ARG Bsisd 3fId ©idde (differential)

fAfa ot log(z” + 4)

o Watch Video Solution

3. [ARTAI® SIsd 3fe7d eidda (differential)

AT Bl : log cos

o Watch Video Solution



https://dl.doubtnut.com/l/_BvnWyyROeCAb
https://dl.doubtnut.com/l/_MVb1RJBIbRWk
https://dl.doubtnut.com/l/_SW3Blfj1nGEb

4. f(z) =22> -3z +2 CEH@DI &
(incriment) 8 WBJPa (differential) TR Ft

YU

z a3 17 3 3.02 (@ 9336w 33

o Watch Video Solution

—

5. f(zr) =2z> -3z +2 OHH@A

(increment)3 WBIBA (differential) AT St
YA

z 93 T 2 (A 1.99 (© dfqafow g

| & I


https://dl.doubtnut.com/l/_T437ZzfsONV2
https://dl.doubtnut.com/l/_PNz6GvGHxWIr

| ¥ Watch Video Solution |

6. ].Og]_o(?)) — 0.4771 833 loglo € = 0.4343 5(?"[
log;,(30.5) a7 fox wifgd BA S I fAdfy

Gl

o Watch Video Solution

7. SIIBTd SRITT O i fAST deat

1
824

o Watch Video Solution



https://dl.doubtnut.com/l/_PNz6GvGHxWIr
https://dl.doubtnut.com/l/_Ho1Cr1KQtBVl
https://dl.doubtnut.com/l/_d73FIzBHxLwc

8. TIPS ST AP FiA fAofg St +/0.037

o Watch Video Solution

9. cos 62° a7 WINg FIA AT @ eI Hite

1° = 0.01745

° Watch Video Solution

10. ABC fagoifbd aafb dus Ja wsferfdo
fagror My foAb Jrad 899 @Y ©1d ¥g AfIqo~


https://dl.doubtnut.com/l/_oHNOOaX1RbSi
https://dl.doubtnut.com/l/_ZswJa18azNpW
https://dl.doubtnut.com/l/_lqU43o3tTzwQ

Sl TE ola @ 9% b de

cos A cos B cos C

0

o Watch Video Solution

M. 2=3 8 z=4 99 L y = 16 — z*

SIS PY 516 dfIIOET 219 932 & = 4 -9 B

HfIT6A 21 AT Bt

o Watch Video Solution

12. 96 GiAda I dfqgist 0.1 % o

(T Ol WIge@Ed ddas Soadar @i afagist


https://dl.doubtnut.com/l/_lqU43o3tTzwQ
https://dl.doubtnut.com/l/_K7mQtUf0gl83
https://dl.doubtnut.com/l/_sHRGOFg8WJHb

G|

o Watch Video Solution

13. y? = 4z ©IfY]E QKT Ao @I IFIAD
O1? ST BIAIE A7 I @ oEIH A
3 219 (BI6J e AT 739

o Watch Video Solution

14. SIATH (PJ <1|'Eh 8 OIJP T (IJ B, IYA

z-ad TH 2@  2.02-9 dfdqeq =TI


https://dl.doubtnut.com/l/_sHRGOFg8WJHb
https://dl.doubtnut.com/l/_rYz7PuFnT4TF
https://dl.doubtnut.com/l/_MJnFQXQCn1RN

y =z’ + 2z

° Watch Video Solution

15. 9Y SAGS (SIF SHeTpa [T AfdqeEa

1 )
mz—,w—m. e 5 Y YR AT TGS
T

O 99 CHaD(eTd AIOAR I AT Bt

° Watch Video Solution

16. BB A WiFwA 997 Gl dfafow 37

Ol gAdH2 ANE Ol (T8 T 9H6 aFd WigoA


https://dl.doubtnut.com/l/_MJnFQXQCn1RN
https://dl.doubtnut.com/l/_rpAkTYjXMc69
https://dl.doubtnut.com/l/_YV1zgxflFrlR

3 3
A8 9P AigeEg Afdqo@Ed 2id = (5) X

(T @I 97 OeTd Ghawed AfIIeEd 2i9)

o Watch Video Solution

17. B9 {79 (@ t Y 936 IF I gz
YT =5+ Asin2t + Bcos 2t Gidl gna A
3 B a3 T I3 3 8 4 afqgid S@ ¢t (sieF

T z-93 53T T 1 % S0 Wie 932 ©f (@I A

ad FIH fod ued A-a9 JF Moddl do Pid

A fAdT St

o Watch Video Solution



https://dl.doubtnut.com/l/_YV1zgxflFrlR
https://dl.doubtnut.com/l/_0junQDnaDvwM

18. PG &oTbIA ¥ Jaldld XIF Wiplog

SieTIIdd Sbol 18 2fd 8 ofdd Iy 10 2fB
SidIEd afe TSR0 4 97 2B et oot o7 YA
ST Seld Ohol 12 B OUYF Sidoed

SAfetst B 2l I AT 2

o Watch Video Solution

19. Jda@AT siforfie 9B AT ¢ O
NI AT ¢ Po TA ¢ = 5 + 6¢2 — 15t + 8

7T 2 OTHS A BIF @5t 3 ga AT Bt


https://dl.doubtnut.com/l/_0junQDnaDvwM
https://dl.doubtnut.com/l/_0HypHUgLm3Eo
https://dl.doubtnut.com/l/_Nqjk2npAjo5V

° Watch Video Solution

20. QS DL I 8 TIIDPT (79 B, IUA
z-99 FA 3 (@ 2.97 -9 4d@ed 2>l

y =z + 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_Nqjk2npAjo5V
https://dl.doubtnut.com/l/_ei98YlnBR9xr

1. ¥f5® Tadib ALDA Bt

r Yo z a9 NG y = f(z) AETHDS

A (V) f(z)

B.2f"(x)

f(z)
f(z)
D. AWJ (BIA162 AT

C.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_R5lCfStokadW

2. y = f(z) IM z-99 9BI6 OIFIDIA (JIsIToT
A flzx 4+ Az) = f(z)Ax
B. f(z + Az)= f(z) + f(z)Az
C. f(x + Az)= f(z) + Ax

D. 9d (BI1Af6: AT

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CpoF0okURZsO
https://dl.doubtnut.com/l/_395cW73K9yuG

1
3.y = (e AT @R FAb 2 = 3 ©

ve+1
2-ad SGE ad AfdqoA 21

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_395cW73K9yuG

4, y = 2z — z° TETHE@A 2 = 4 IO~ 27

A6 (@1 A6 ?

A.(—6)

B.(—8)

C.6

D.8
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2jIMPovUGp7L
https://dl.doubtnut.com/l/_5dsZDxGNSpuT

5.log sin x 49 ©IdHeT 2F-

A.cot
B.( — tanzdx)
C.cot zdzx

D.tan zdzx

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5dsZDxGNSpuT

6. 10 OIfg IB[AIFE @ 9H6 IC GHag gy
Il @fod afdgid 005 Cif 3@ w9
GHamd AfqaNed efod dfagis 3-

A. 0.5 Jsfoifg

B. 0.135(01fT

C. 0.23501fg

D. 13501y

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lba1GS6bonwp

7. T3 AOTHID HETH DL S (differential)

fAfg sty = 2° — 322 + 22

° Watch Video Solution

8. fAT6d J(oTHI® HHH P wddx(differential)

fAda @ty = e” + a?

o Watch Video Solution



https://dl.doubtnut.com/l/_csAjYQNGB91X
https://dl.doubtnut.com/l/_1cARbBTqvCLL

9. fAT63 ATOTHI0 HETH DI wIddba (differential)

g Wl -y = sin /z

° Watch Video Solution

10. IBIGE] = (CILAL) [DIE G
Olqhcd(differential) fadfy IGIE

y = e”(sinx + cos z)

° Watch Video Solution



https://dl.doubtnut.com/l/_jgTZvyLDbWHB
https://dl.doubtnut.com/l/_feXoM3FHJz48

1. ARITIC OrgqdergRr (differentials) Y

Ul d(az2 — yz)

o Watch Video Solution

12. ARfTfU® orE@d@endiR (differentials) A

Il d(a:yz)

o Watch Video Solution

13. 995d AT @I : 22 + 2



https://dl.doubtnut.com/l/_JExsXq9xbzEK
https://dl.doubtnut.com/l/_VgRVr4s7hCQa
https://dl.doubtnut.com/l/_9LeoiIsVFlso

o Watch Video Solution

14. AR AFIPeYe (differentials) fadfy

I d (332 sin y)

o Watch Video Solution

5. y=z"-2r+3 WS J&
(increment) 8 (differentials) @d&d AT HEt

AT : ¢ a3 JIF 2 (AP 2.02 -a df33f6w 37

o Watch Video Solution



https://dl.doubtnut.com/l/_9LeoiIsVFlso
https://dl.doubtnut.com/l/_8mUuVDtml11U
https://dl.doubtnut.com/l/_eIoidXeyaU2m

6. y=z"—-2r+3 TSI J&
(increment) 8 (differentials) ®II®e AT FET

A : ¢ AT T 3 (AP 2.97 -9 360 7

° Watch Video Solution

7.2 =29z = 5 QI ML y = 2 WCETH DA
G AfdqOAG 219 a2 x = 2 ©f a9 Afdqo+ 2

fadyg st

° Watch Video Solution



https://dl.doubtnut.com/l/_eIoidXeyaU2m
https://dl.doubtnut.com/l/_Z9hnaE5shiJ9
https://dl.doubtnut.com/l/_gxkw6fgIWALu

18. (SEAPIG UAAT R@EN & TUA CHIANAT 2T

OUA Ol Oigod V (d42(BT0) AR Jgdd

GHamd S (If ¥W/O) T ¢t (OPT) a7
T
6
t = 4-9 WIFOF 9R GHaHEd AITAoA-217 fAfg

WHEHD 37 @UH,V = ( )t3 a3 S = wt?

6]l

o Watch Video Solution

19. 9BI6 I t OIS TAW s Pb Udg Afoad

IE, A s = 8 — 10t% , t = 2 AT IADI


https://dl.doubtnut.com/l/_1s8OE3Hl8LCC
https://dl.doubtnut.com/l/_XDXTerwqOQU3

Qst fAg et

o Watch Video Solution

20. t OIS Y (SIF AT @5t a4f6 OIS v
PO AT , v = 6t° — 2t° W t = 4 ONDEE NI

INT g fAdg deat

o Watch Video Solution

21. s = T t=3 9 s- 99 t- a9

VEF1
SIAGEE AfqqoA 2id fAdT St



https://dl.doubtnut.com/l/_XDXTerwqOQU3
https://dl.doubtnut.com/l/_egZVRWVRcjKf
https://dl.doubtnut.com/l/_1hhaYfVgqWNK

° Watch Video Solution

22. B G BT 9B6 JalDIF 4Ieq Aited
I S OIS 0.002 O It AT IYF I

14 O ©YA Atod GHaDel [ 2 I A17?

° Watch Video Solution

) , 1
23. (P17 J&1 m%mm;,mm
Jad IPNE 2 9Pd oYA Ol Affgd T

| e |


https://dl.doubtnut.com/l/_1hhaYfVgqWNK
https://dl.doubtnut.com/l/_E69z60GAulKM
https://dl.doubtnut.com/l/_1EQbpqeAiQLC

& watch Video Solution I

) ) 1
24, (SI7 J&1 m%mm;,@m

J@d I 2 PP ©YF Ol GHaBeld

° Watch Video Solution

25. 2-99 MEGE y-99 AfRAOAT 219 4 9@ dfe

OIS y 99 AIAOA 12 95D AT 4o CNPS 2-

a7 7oA fAdy Bt

l ° Watch Video Solution


https://dl.doubtnut.com/l/_1EQbpqeAiQLC
https://dl.doubtnut.com/l/_PRmBUALl2o0Z
https://dl.doubtnut.com/l/_QlnqHQ2azmJ3

26. r IO RIS (SIeTtPd I@Y¥d GHadal 3

oJiIod Y@ S AR V W6 W8 (T,
av ds

2l — | =7r| —
dt dt

° Watch Video Solution

27. 571235 % Saaddt
V627 a7 @I for wiIfds B g9313 giF fAdy

6|

° Watch Video Solution



https://dl.doubtnut.com/l/_QlnqHQ2azmJ3
https://dl.doubtnut.com/l/_8C537Dl1wnEb
https://dl.doubtnut.com/l/_U2CwdCLiyi0V

28. sin62° a4 foq wfgd BH 9838 @big giF

AT d@T (msT &g, 1° = 0.017)

o Watch Video Solution

29. log_(10.01) a3 FIA fAfy S&M , @3 W2

log, 10 = 2.303

o Watch Video Solution



https://dl.doubtnut.com/l/_U2CwdCLiyi0V
https://dl.doubtnut.com/l/_csS3sFJcBJ2z
https://dl.doubtnut.com/l/_LltQHLbBK6Ks

30. tan44° a9 FA AT I@ , @3y &ie

1° = 0.01745

o Watch Video Solution

31. OB AwfO SISt B A SoTPod By

JIA AT Sl /26

o Watch Video Solution



https://dl.doubtnut.com/l/_JP7kcdw7s0tv
https://dl.doubtnut.com/l/_vgVjGSTRhcJR

32, ORBA GG A BE ANGI AOTHIG

@R J1N Ay St /0.24

° Watch Video Solution

33, OIPA dwmfo ISt B ANDT HOTHIB

oA FIF AT St /37

o Watch Video Solution



https://dl.doubtnut.com/l/_PQwCQKrKR1FY
https://dl.doubtnut.com/l/_6Fi9LI9hZv2n

34, ORGA GG ST FW@ AN AOTHI6G

aIF J1N AT dEt +/0.48

o Watch Video Solution

35. f(z) = 3z*+ 15z + 5 A f(3.02) a9

A T AT St

o Watch Video Solution



https://dl.doubtnut.com/l/_fdYZODRRBc7B
https://dl.doubtnut.com/l/_pulc00f9tbG0

36. IM y = z? — 12 27 932 x99 TH 2 QAP

Afqafo© 2T 1.99 2T O y-A7 WA AfIqOA Fo?

° Watch Video Solution

37. A3B AR died AfITied 5% &6 3t ©id
OIYoAEd AfATied oddl @b dfqad fAdy

6|

° Watch Video Solution



https://dl.doubtnut.com/l/_uQVucSZpRbtC
https://dl.doubtnut.com/l/_25F1A9uGPuci

38. 956 I(EFHTad Jed AT @ivd T 0.01

CIfT SIUEht 9 IM Ghamed afdaied oo 2

35t OIfY SRHT Y (0 37, O] T]IID o (LT

IS qio ASTT -] ?

o Watch Video Solution

39. GIAB AT dwfo ISt HE

7 offg 8 702 oify Jbnd [T 7o Jed

GHanEd S ETd ey TiF Aoy dat

o Watch Video Solution



https://dl.doubtnut.com/l/_PZwAM5GgoAFf
https://dl.doubtnut.com/l/_QSd2rGiernDg

40. TP AHfo STTIs B
4 OfF 8 405 OfF Iz R[REE 7o TIA@

WO AT SARARTT W T fAdT St

o Watch Video Solution

41. (PFH Jad GHadpdd NART AAGH JARAW
AGAMO® 2 G SET T O AfPHAT ARROHG

2 AL H B TR

o Watch Video Solution



https://dl.doubtnut.com/l/_QSd2rGiernDg
https://dl.doubtnut.com/l/_futovSZ0F3UL
https://dl.doubtnut.com/l/_jHyYq7F5OTYD

42. 936 I y? = 8z WYIe AR sifoxla

ofgqrad SAfaEe @ fIvyo 319 g& 8 @I6d

I 213 TR R fI9d BIAls RSy @t

o Watch Video Solution

43. 936 (ITIPIO ([EAI JT df6 GBS 25
TAOIY 2@ Y 4 BT 27 YA ©IF 7 20 O

O O AT DI AW JG A ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VBvNgFZlpTjt
https://dl.doubtnut.com/l/_V3xwxYUmGcEb
https://dl.doubtnut.com/l/_V6IR4Dti9qdh

44. 319 aB6 GHAIPO @@ (AP Y (@D IR

, 1
g oy dfe oS <§) 3T P AP,

YA AT 10 G ©YF Bl 2@ @EA (A Y

Q@@

o Watch Video Solution

45. 936 9PD YA o~ 97 I afo fofs

CIfFB AT v a2 BId gfefb Brad GhamEd I

gfo fSfs GIfFTETS B 2T T8 (@ 2y = 33

o Watch Video Solution



https://dl.doubtnut.com/l/_V6IR4Dti9qdh
https://dl.doubtnut.com/l/_HeKSImsvT6eC

46, a6 I SIARYY sifefeT a3 0O
NIRRT 3949 9o fAftg faw t S o fayg

(AT UdQ a cosnt + bsinnt (a, b, n IP) 2AcT

AT IEN T FAF g9 0 79 (YT BIF 1w

ST Ifo®

o Watch Video Solution

47. (B 4o fagrow af6it deq it oS

/3 OIfF 2T 93 ©IF GHaDd GBS 12 Iso

21 I (S1TeT ©I qiod e’ (A St

| & |


https://dl.doubtnut.com/l/_RJqcx6mEHvh9
https://dl.doubtnut.com/l/_fBbCaVZnTZEP

| ¥ Watch Video Solution |

48. BIIET (A 936 @ 99301 EBXE yrat
P t TOIT BF (D (GBI udg x BB
e x fARfAfI® Stedd gidt SIfoo 27 -

x = 90t* — 45¢°

6 fIfAD &I @AM sfowst 8 gad Aoy Tt

o Watch Video Solution

49, 93BG ISBFHTad Jied Afqaed &ivd J19 0.01

CIfT WUt 9 IM Ghamed afdaied oo 2


https://dl.doubtnut.com/l/_fBbCaVZnTZEP
https://dl.doubtnut.com/l/_XkV1Wju3l9sQ
https://dl.doubtnut.com/l/_arr4nArb1Fhy

I35t cifg SoThT T 210 oF o JAifd9d o gy

IS 93 (3T A= ?

° Watch Video Solution

50. 1 ST Seld osdtarl 0°C @d t°C a Jm

PIO AA Q 9BD O AN, @IH Q =
t+10° x 282 +10 " x 3¢ dfe  fofa
oidTal IEd TAT OEGT 2AIE AERED oI
JeTt 50° C =T OEFaT Sed Siefiesd o

IBEREAG]

° Watch Video Solution



https://dl.doubtnut.com/l/_arr4nArb1Fhy
https://dl.doubtnut.com/l/_4s7wDM7E0jW5

51. ABC faglod A (@Iad afqdid 2o 45°

@I Afqae b 17 W oW faglod GHamd
fAfa xoaat & dfiwd fAdy swr (aws,

1" = 0.00291)

o Watch Video Solution

52. ABC fag(Td ¢ 919 93R C (@I wsifddfow @
o9d AT 4o 8 (@I 1o ¥g Afqe~ Il A

M8 @
da db
=0
cos A + cos B



https://dl.doubtnut.com/l/_4s7wDM7E0jW5
https://dl.doubtnut.com/l/_QluMcVoD0xwL
https://dl.doubtnut.com/l/_1mcvXC3uIHN3

° Watch Video Solution

53. @4 fager ABC @ I adb do 7o
oifddfoe @ SiIE @19 7o ASB 99 Tg

didod ddf W O g9 dE (T,
dA ) dB
\/a2 — B2sin’ A \/b2 — a2sin’ B

° Watch Video Solution

54. (MieTdT 0T | 8 (leiAdied T I T=

27r< é a Gl Olid% 27 932 i1 @16 1%


https://dl.doubtnut.com/l/_1mcvXC3uIHN3
https://dl.doubtnut.com/l/_jhSVuNaE6Qvq
https://dl.doubtnut.com/l/_CWKJy1FXoH0p

(T MBI b AT Fat

o Watch Video Solution

55. NIt6d 4f6Ts WS PT W<aba (differential)
(dd ddl

d (332 sin y)

o Watch Video Solution

56. (AT8 (T (I YA WigoAd dfagist

WSS 64 JIF ©Id Ied Afqgis ansfiss


https://dl.doubtnut.com/l/_CWKJy1FXoH0p
https://dl.doubtnut.com/l/_Gx0TSjmrSlqQ
https://dl.doubtnut.com/l/_cRRz6TxMirRf

I64 di7 foasa

° Watch Video Solution

57. ABI6 @e[(~d e 7 O iy it faiyg

M 0.01 COfF &6 W B @77 Wige~ Ay

Ido T Fo 6 3@ AT It

° Watch Video Solution

58. 6 b ¥l 9P J((® 156 TH 9B

AP BERT AT (AP ToIT 32T (@5t Bt


https://dl.doubtnut.com/l/_cRRz6TxMirRf
https://dl.doubtnut.com/l/_PCqQuEhCEZxc
https://dl.doubtnut.com/l/_jzUE7mmULwMb

OI5(eT BId RIAF (T 6 2 I Aa?

o Watch Video Solution

50. NIbd df6fc GH@ MHT TIFwIfa®

@ dE-n =2,1 =1

° Watch Video Solution

60. 716 Sf6d TRHHT WD (differential)

(d9 Ad

d(zy’)


https://dl.doubtnut.com/l/_jzUE7mmULwMb
https://dl.doubtnut.com/l/_RSrRO7CI9d0H
https://dl.doubtnut.com/l/_sTrXltxaf8WU

° Watch Video Solution

61. A6d A6 TERH BT TIIh (differential)

(d9 Ad

d(a:2 B yz)

° Watch Video Solution

62. T TTOE FIHFHD (A 50 Po W[ 9B6

(@A OIS 6 PO ([T SAFGIE 3HIMD 3T


https://dl.doubtnut.com/l/_sTrXltxaf8WU
https://dl.doubtnut.com/l/_8ytni1F30JZW
https://dl.doubtnut.com/l/_ULdbtVo049zD

YA ST (AT @A SHol 120 o oYUF G116

PO QT AT@EH D (AP W AW T1F?

° Watch Video Solution

63. AN6d Af6GHE@ dng Il TAfdEe [y

(P g0l (I I

r=t"—3,y=2+ 193t = 2¥o

° Watch Video Solution



https://dl.doubtnut.com/l/_ULdbtVo049zD
https://dl.doubtnut.com/l/_C9GzVhw6KLwz

64. AI6d dfoGH@ dng @ THfAEe f[Tvo

XD g0l (I DI

z’y? — xy® +y — 14 = 0-93 (3, 2) 9@

o Watch Video Solution

65. AI6d Af6GHE@ gng J(@d CAfdEe f[qvo

[P 701 (JF BN
T 5%
Yy = -ad (5, —) GRAC,
Vz2 — 16 3

o Watch Video Solution



https://dl.doubtnut.com/l/_4K6Fx6TRIZ0I
https://dl.doubtnut.com/l/_3pEKfhNMkNOc
https://dl.doubtnut.com/l/_2VNXRGKegYb9

66. 936 JBIBIT BIfeTd BB OB 2 ISt oIfF

§ ,
(cT 4G 2 Q(H) OTRP S A ©IF I fH 2

I a7 of Ay St

o Watch Video Solution

67. 37 7m QHf6 MAT FeTt 37 932 GoO3fA

O 4 OIfF 2l JaIBIE SifexfieT 27 (@ >S9y

BB (66-a7 [PNL 10 CifF Y SRS

GHadel PO B Jn AT?

o Watch Video Solution



https://dl.doubtnut.com/l/_2VNXRGKegYb9
https://dl.doubtnut.com/l/_8JCJgyp9d2DP

68. AI6d Af6GHE@ gng J(@d CAfdEL f[Tvo

(P g0l (I DI

y* = 8(xz — 6)-99 (8, — 4) ko

o Watch Video Solution

69. (B STIASIAITSIE C = ktan 0 TNBAET
SR BfoRadie C-a7 AfqgreT Ay Far 27 (k
aBI6 $3IB) 0 = 45° (@ A a7 AFINS 0.7% HI6

ST oS dfRetal @b fgdfy dt

o Watch Video Solution



https://dl.doubtnut.com/l/_DjJ5EKekXCa7
https://dl.doubtnut.com/l/_Tn2NTfTeR6gF

70. A6 df6GFH@ gns J@d TfdfEoe fyo

HATPJ 43401 (I Bl

y® = 42-97 (1, 2) [Iyo

° Watch Video Solution



https://dl.doubtnut.com/l/_Tn2NTfTeR6gF
https://dl.doubtnut.com/l/_0w2ZomgcNGSB

